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Time Allowed : 20 Minutes SSC (Part-1) < 200 =
& Maximum Marks : 15 Session ( 2014 -18) to (2018 - 20 . 15 /J

@ Rup-G1~9-19

i _q;,éa.g{cl_.)iLﬁén;;w&m‘é.,,:,:wm—_u:uu’l.-r-*_'.f_..l:f_ucdﬁf,gfq W24 0,C, B, Achzsby Ly : Ligs
; ~Err b ol Rt SE SN L S i ionskie L

Note : Four possible cholces A,B,C,D to each question are given. Which choice is correct , fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark In that question..

Ina Ratio a: b,"b" is called : : EY b Ledaib =21 14
Consequent -‘qu"b’ (D) Mean gl (C) Antecedent ..t-zJU‘L?-! (B) Extreme ;:':Wi (A) (1)

% in Percentage is : 2% M 20 © 35 @B 35% (A P AL 3?5 @

Zakat is deducted at a ratio of k q..am:..b/‘x/( {3;{ 355 (3)

5:5% D) 4:5% (C) 3+5% (B) 2:5% (A)
Lt PSP e b @)

On a Crop produced on Artificial Resources, Ushr is deducted at the rate of
25 % D) 2:5% (O 10% (B) 5% (A)

Po= 2 : =4l (5
oF = . 100 x SP 100 x <bjcd * ©)
Loss = S5.P. i« dsfnd (B) - (A)
100 + Profit % 100 + .4
100 x Discount 100 x s
- - =" _ (D) MP.+Discount edtages + ok (O
M.P. ..‘.d_!@.r){n.‘.-'-"' _
The Periodic Instalment to be paid by the Insured is called : s S SIS s LuB! (6)

Mark Up .‘.EJL (D) Premium (..{{ (C) Discount <563 (B) Bonus L/l’ (A)
¢ Costd «tp S 6% LI 8 g s600-| (7)

Compound Profit on Rs.600/- for 4 years at 6 % per annum is
160 (D) 159:49 (C) 158+49 (B) 157+49 (A)

The tax charged on all taxable income is called : : {_.t.'u;f ) {_L'I._vl.ﬂ{d.ﬁgfg Jopw )‘nfg sl (8)
Excise Duty Gtiiu.z/l (D) Income Tax Jgﬁ (C) Direct Tax Jg.:-rbsu (B) Sales Tax Jg)-'-‘ (A)
The ﬂtax in addition to the price of the Article is called : J ug?: g ﬂ&ur Loed JZ O/ (9)
Excise Duty {jﬂﬂ-.(l (D) Income Tax u‘gﬁ (C) Sales Tax Jg x (B) Tax Jg (A)
In {3 "3" is called : s U e 2 {31 0)
i Integer a-l-ﬁé-‘ (D) Natural Number .ma.u? (C) Radicand »% (B) Radical i (A)
{ What is a, in 3,7, M— 1 q...L_faG 3, 7,11 e (11)

20 (D) 23 (€ 19 (B) 3 (A

What is G.M. between 1 and 8 : D el bl s L84 1) (12)
Z D)-2{2 (©) 2z (B) 2{2 (A)

f U={1,2,3,4}and A= {a}then A=2: A“=? u={1,2,3,4}.4a={a} fi| 13
{1234} O 1 © Z ® {123} @

By putting x=1 in 2x +y = 6,theny = ? : : y-?.:.«f.zxa‘[ L 2x+y=6! (14)
8 (D) 4 (©) -8 B -4 (A

; 4-31‘1( Ll mbicgs Loy Frad ui (15)

The score which occurs most often in a set of Data is called :

Geometric Mean  Ls/J” (D) Median by (C) Mean ksl (B) Mode bk (A)

Y
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Note: It is compulsory to attempt (6 —6) parts each from Q.No.2, 3 and 4 and attempt any (03) questions
from Part II. Write same Question No. and its Part No. as given in the question paper.

36 =2x18 | Make diagram where necessary. -gf’h(f"yxd»ﬁulﬁ (Part 1) Jsbo

_ghped x E x 130 60115 o () 24U

Find the unknown "x" in the proportion x:3 :: 60: 15

In what Ratio 60m> be decreased to 24m2? "Q_U:lrk(( HKerau I x fo)g wlﬁ-“f‘:"b/ (ii)
Define Ratio. 27§ = i
What is meant by Inheritance? Sealpd e 2 (iv)

LB i g1 e 11,10,0000 24 S ir Sl )

Calculate Zakat on Gold amounting to Rs. 11,10, 000/-
Define Profit. Sy e AT
1 A‘ri'..:u.f = 1540 e € Yl = 5% féf;;"’-:):/’.bf (vif)
Find the SP when CP = Rs,1540/-, Loss = 5 %
. ey jed = 2400 &-ss ¢ ek = 4% -,ﬁ.éf?}”&élﬁf‘ﬂ) (vil)
Find the Marked Price when SP = Rs.2400 , Discount = 4%
What is Credit Card? e s skt (i)
Define Insurance Policy. ..qf):-é’f- L{ Lf:'&-{ 0} 340w

_u_u?k' ngj{!{ WS/ § 20 16% -¢-4-1 14,00, 000/- Salzuded L an
The annual income of a Flat is Rs. 14,00,000/- Find the Tax Payable at a rate of 16 % -

Define Indirect Tax. -4{4} g Jg.blr'l, (iii)
! 1/646 L
Simplify. (P14 5118) » - )
y .o
Simplify and express with positive indices. (1—6_’52—) _dﬁ {paFesl /S O
y
Write 0+00018 in Scientific Notation. ..{:',‘g e |{7}U" L/ 0+00018 (vi)
Find A.M. between x~1 and x + 7 LI 8T Genl x=1 sl x + 7 ()
Define Geometric Mean. ..4::'/‘7 g b (i)
If a = Ln Write its first three terms. ° -a!g r;Juf Jf&,rl n ", . -3—1[—‘-' fl (ix)
3
Define Union of Sets. ..4:.&!/1 8 Ly Lo ) 440w

-4‘;}’* AS A= {3,45} » u=1{1,23,45,6,7} A iy
¥ U= {1,2,3,4,56,7} and A = {3,4,5} then find A",
e X xY my={2,4,8} » x={0,3,5} A (i)
f Xx={0,3,5}and Y={2,4,8} then find X x Y.

Convert 86°C to °F by using formula. ...’f:,fi 94 Ok 86°C Ll S0 (iv)
Represent A(6,-3) on the Graph Paper. -4}&' {,5-..5!)’ '3 A(6,-3) V)
For the Data Set 6,2.4,3,4,5,4,5 find Mode, &5 0k ¥ 6,2,4,3,4,5,4,5 2x L7 ()
Define Origin. -’4{;« f. J ol (vid)

Define Arithmetic Mean. ' -4:&7" J &:IL}{? (vi)
L ey -

L.
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A Square A has side 6 cm and Square B has side 8 cm then find the Ratio of
"The length of the Side of a Square A to the length of the side of the Square B".

o1 9501235l Gt 5§ 2 S w0000 g § S o e Eusdii S
et Ha0

(O

If the Wheat Crop is

produced 40,000 Kg by Natural Resources , calculate the
amount of Ushr, if the price of wheat is Rs, 950/- Per 40 Kg.

Sy St § Lp k8 3 unZ S0 15% ¢ Sk pSnss 7,50,0000 S o g « S 64w
ot 2:3:5 adpurlyl

C))
If Ali, Danial and Abdullah earned 15 % Profit against an Investment of the

Rs.7,50,000/- , find the Profit of each if their shares are in the ratio 2:3:5.
¢ ¥t DA B e Winie 2o 16 % &b 3 & 1,00,000- &7 L1 ()

4)
A man borrows Rs.1,00,000/- for 3 years at the rate of 16 % p.a. What is the Mark

; Up he has to pay?
) _u,)’r)ﬂfg)'-’ (U016 § N3 Segoin 3500 A SSE o 1A
The price of a Bicycle is Rs.3500/- If 16 % Sales Tax is charged, then calculate

the amount of Sales Tax on 50 such Bicycles.

P e iz gt KL RET a5 x 10° ()

@
Convert 4-5 x 105 cm into Meters and write the solution in Decimal Form.
L b adun gt e 6 3uken Lb o a Jion 840y
a and b.

)
If 3 and 6 are two AMs between a and b, then find

B = {7,8,11,12} » A ={7,10,13,14},U = {7,8,9,10,11,12,13,14} S
fg:'-:t‘in

(ANB) = A“Us®

)
¥ U=1{7,8,9,10,11,12,13,14} ,A = {7,10,13,14} and B = {7,8,11,12 }

then prove that (ANB }c = AC U Bc

(4) Draw the Graph of y = 2x +6
g SRS € 2,3,6,8,11 ()

C))

Find the Standard Deviation of the values 2,3,6,8,11
LY P P

—— e e e i e

cdeiSS Ky = 2x + 6 () 94w
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: Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that clrcle In front of that question

: number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
|
: :Ugl_uf"d" .t:l"a"‘,t,zFﬁa:b::c:d1K'Ufr
1‘_In a Proportion a: b:: cid "a"and " d " are called : (1)
E Extremes uﬂ) (D)_m_éntecedent .a-'dgj;?f (C) Consequent .:Jf(f ¥ (B) Means u!h’: (A)
:Fraction form of 70 % is : 0 s . PSS 0% (@)
‘: w ® 7 © 1 ® 7 @
1 ; l':r,»t{bt'fmr,;‘ § st o Uja...!)d/ wh Lol R 2P ¥iwci (3)
ﬁ ‘The Share of a Widow in the absence of a Child or Agnatic Grand Child is
1 1 1 1

I p 3 05 ® 7 @
Sy et ?{J" Jie2¥ < Busdini (@)

.: On a Crop produced on Natural Resources , Ushr is deducted at a rate of
20% @M 0% (€ 5% (B) 2+5 % (A)

. & ¢ = 4id ! (B
100 x SP 100 x =31/a4 siel )

= (A)
100 + Profit % 100 + 8C

Loss = S.P. - e3sj=d (B)

Discount x 100 100 x ¥

- (D) M.P. + Discount .-:.-Eb;:{._‘-: + o (©)
M.P. :.»ft‘;.u{.bz

I
1
i
t
i
1
1
i
L}
1
-
{CP. =7
LI
L1
1
1
i
t
f
i
1
1
i

et 2V ks Wik S sl VS = BLeLinJE e (6)
EA bill of Exchange drawn on a specified banker and not expressed to be payable otherwisa'then on demand Is called
Bank Draft NS {D}_‘_Bill of Exchange J:i?J (C) Payorder .;3:7%. (B) Cheque -1_-/; (A)
The percentage of Profit/ Mark Up charged is called : : uzéf S v/ G(JJI‘:J..;TJ;UU.V (7)
v Principal i (D) Interest  » (C) Time /t (B) Rate </ (A)
';’l‘hc tax charged on all the Taxable Income is called : @ {..bll\f ¢teld ¢ daT L/?'Jlf (v 2 u‘g wi (8)
' Excise Duty (g37LE1 (D) Income Tax ug/: (C) Direct Tax Atz (B) Sales Tax UK (A)
]

i Taxes of the form of Duties, Motor Vehicle Taxes are called : L,r_::;‘: ' J’-@& J L}%:}r <23t (9)

| Income Tax & (D) Property Tax e (©) Direct Tax Stz (B) Indivect Tax_UEhih ()

iz =7 1/4 1/2 2 . {[7 =2 (10
il M Mo @ 2 W iz =1 @0
EA.M. between ?.J? and 6\,{_5. is ) “-_Lf b3 2 2d? » 65  (11)
4 L L LI 305 @) 45 @ |
El‘uurth Termof 3n = ——-1—"— is : : A.’--L.:r P:‘Ifﬁl; ah = 2 6
! (2n=-1) . " h (2n-1)

: v O © 5 ® 7 W

': . o (R)=? M R= {(4.5).(5.4),(5,6).(6.9)} /1| (13)
';if R = {(4,5},(5,4),{5,6).{6,4)} then Domain of R :

L te) o lsss) @ {a5) ® {s6} @

{1f y = 3x, then for x =2, we have y = 7 oy =2? ?u‘-‘:xwzuﬁy=3x)’i (14)
2 @ -3 © 6 (B 0 &)

:’ S(x; - X)= 0 is one of the propertics of : : ‘Lﬂghfbﬁ"‘; / 2(x5- X)=0{ (15)

ek ta wm v e b s 4%
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36=2x18 Make diagram where necessary. _.;,{_"b.U' ﬁnd»ﬁdlﬂ (Partl) Jio
M

@ \'\-qﬂ'au:rufc_ch.t,tr».».é..;_d;uu}/ayg/{.Izr{a— 6Ll 4 413 « 24 e € =l )
B\(

by g L2y Sk 2 s 61z

«
/CJ' Note: It is compulsory to attempt (6~ 6 ) parts each from Q.No.2,3 and 4 and attempt any (03) questions

frolm Part IL. Write same Question No. and its Part No. as given in the question paper,

Express 0+13 as percentage. ..u:’{ﬂup S w35 013 0 24~
Express the given percentage as Decimal : 120 % -u:fJ_.yLd g ' .a-e?!!q’_..; (1)

ek ol 2w GRS A S -Z—/ (iii)
Express the Fraction -43_ as percentage giving your answer to 1 decimal place,
Calculate the amount of Zakat on Rs. 5,00,000/- -4/ (o 3 { &2 5,00,000/- (iv)
What is meant by Nisab? fep = b ()

0% =& &1, 950/ - = ¢}=J.é$1c#a,);‘2 vi)
Find the Sale Price (SP) when Cost Price (CP) = Rs.950/- and Profit = 10 %

A 2% = A o 858/ = ehjed Gy Speditts i

Find the Marked Price when SP = Rs, 858 /- . Discount = 12 %

' Define Profit, L/ S v

Convert 5,00,000/- PK Rupees to Euro. LA Ry S &5,00,000-36/ (ix)
G 22:3449 = Jy G fl G é;{dzﬁ,cuguéw’g S Jsr 5000 Gy 30
Convert 5000 Saudi Riyal to P.K. Rupees when One Saudi Riyal = Rs.22-3449 /-
Define Income Tax. _u:f_e/: J l/g/f (i)
ey Jg{j;{f{ WIST @2 § 200 16 % g ds 14,0000 =dzu § e Ll (i)
The annual value of a Flat is Rs. 14,00,000/-. Find the Tax Payable at a rate of 16 %.

Express in Exponential Form . 4| 163(2y6 -de wp § Ui (iv)
Write in the Scientific Notation. 0+ 00018 el w
Solve. log(x-2)=1 s A\
Find the G.M. between 3 and 27. U 3l el 27 0 3 il
' Find the 11th term of a G.P. 2,6,18, ——. Ll und 2,6,18,— 1hy 2 v
. Define Arithmetic Mean. ..;,_{‘f..&/" J bag? (ix)
Write Demorgan's Law, i £ S @) 4

L KIA={3,4,5} »U={1,2,—7} S @

If U= {1,2,—7} and A = {3,4,5} then find A .

If A={4,56} then find Ax A. A AxA 7 A={4,56} N an
Define Origin. L7 S e v
Define Ordinate. LA § ezt v
Represent a point D (0,-4) on the Graph Paper. S {4:&.;0’ I D(0,-4) 5w
Define Histogram. ' 7§ B v
Find Geometric Mean of 4,2 and 8. AL PSS 8 2,4 )

Find Mode of Data Set 2,4,3,4,5,4,5. L6 2,4,3,4,5,4,5 or £y (ix)




{ LKNO. 16 |  H(Part 1) 0 | prfq’} ~§~/F

) SLun W Jp 0 I ol a20 o 8a% ¥ U S (D) 54y
If 84% of a book consists of 420 pages, find total number of pages in

the book,

@ I P 4 350,000 BAS Ui e Buss (L)
Calculate Usher on Wheat Crop amounting Rs. 3,50,000/- produced by

Artificial Resources.

@ A 345 adbutlol 4?:’5 g gg_unoz-;ﬁua’rgf (W) 64y

Distribute Rs.720/- as a profit amongst three people so that their shares are

in the Ratio 3:4 :5,
@) LB 33 e L Bongia it § i 6% &L 2 £ &1 1500/ ()

Find the Compound Profit on Rs. 1500/~ for 2 years atthe rate of 6% annually

payable half yearly.

§ 45% clindedoee 3000 (Foikie S e ir 30000 wslon 2 G () 140
) VW A
The total taxable income of a person is Rs. 4,30,000- if he is given rebate

Rs. 3000/ on the Tax Chargeable , then work out the amount he has to pay as an

income tax @ 4.5 % ?
@) Simplify. Y& x Y uF ()
(4) Find the 11th Term of a G.P. 2,6,18,— -/i# {11 2,6,18,— L2 (L) 840
B =1{1,3,67,8} s a={2,3,69},U={1,2,3,4,5,6,7,8,9} /()
@ (AUB) = A°n B St
¥ v={1,2,3,4,56,7,8,9},A={2,3,6,9} and B = {1,3,6,7,8}
then prove that (A U B)c = A° n B
(4) Sketch the Graph of the given equation. y = x-1 _zays ) ¢ et (L) 94
@) L vl st Soes < bl ¥ 3,5,6,8,8,9,10 s (&)

For the Data 3,5,6,8,8,9,10 find Mean, Median and Mode.
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